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1 159813.sz Yat 0.65 AL ARIESSEE
2 159824.sz #EER 0.65 AL ARIESSEE
3 159828.s7 =¥y ETF 0.65 AL ARIESSEE
4 159869.57 XL ETF 0.65 AL ARIESSEE
5 159960.5z 184 B 1 0.65 AL ARIESSEE
6 510210.sh 58 ETF 0.65 AL ARIESSEE
7 511380.sh {1 ETF 0.65 AL ARIESSEE
8 513900.sh AR 100 0.65 AL ARIESSEE
9 515250.sh HEER 0.65 AL ARIESSEE
10 515980.sh NI - 0.65 AL ARIESSEE
11 516080.sh BIFTEZ 0.65 AL ARIESSEE
12 516150.sh o a4 0.65 AL ARIESSEE
13 516220.sh LTk 0.65 AL ARIESSEE
14 516800.sh HHEHIIE ETF 0.65 AL ARIESSEE
15 518800.sh B¢ ES 0.65 AL ARIESSEE
16 000155.57 JIBESN T 0.65 BEARIESSEE
17 000831.sz AF L 0.65 BARIESSEE
18 002176.52 JIHFERA 0.5 BARIESSEE
19 002192.s7 RREERE 0 PANFRIIESSEE
20 002625.57 WA =E N 0.65 BARIESSEE
21 002756.5z KR 0.65 BEARIIESSEE
22 002791.sz REA R & 0.65 EARRIESSEE
23 003035.5z EIZESE 0.35 PARIESSEE
24 003039.5z = % F& 0.35 PARIESSEE
25 159841.s7 W3 ETF 0.8 PARIESSEE
26 300363.57 EREA 0.6 PARRIESSEE
27 300623.57 EFEER 0.6 PARIIESSEE
28 300751.sz 15 4 Ry 0.6 BARIESSEE
29 510800.sh IIE 50 0.9 BARIESSEE
30 512770.sh AR T 0.9 BARIESSEE
31 513010.sh AR 0.8 PARIIESSEE
32 513130.sh B4R 0.65 BARIESSEE
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33 513180.sh LEE=Y SEST 0.8 BANFREIESSEE
34 515210.sh e ETF 0.8 BARIESSEE
35 515220.sh YE% ETF 0.9 EANFREIESSEE
36 600157.sh KR BEIR 0 PAFREIUESTEE
37 600916.sh FERS 0.35 BNFREIESSEE
38 600985.sh SEIEE 0.65 PEARRIESSEE
39 600989.sh EERR 0.7 PEARRIESSEE
40 601077.sh R ETT 0.65 EANFRAVIESSEE
41 601456.sh E B IES 0.5 PARRIESSEE
42 601777.sh TR 0.5 PARRIESSEE
43 601916.sh MMERIT 0.65 PEARRIESSEE
44 603126.sh A5 0.65 PARIESSEE
45 603129.sh EREH 0.65 PARRIESSEE
46 603225.sh RS 0.65 PARRIESSEE
47 603267.sh BT F 0.65 ENFREYIESSSE E
48 603613.sh EBLRA 0.65 PARIESSEE
49 603877.sh AEE 0.65 PARRIESSEE
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